Z556[0] 7 H A fin 8 FHE K VKB EOR =

2 T T R—A< b & (50m) 1/4
HH ;2024950 18H () ~5H19H (H)

No.93 ZF 100m HFikZF TiE RECH 101249

< 10T >

IEfr K 4 R FHE KK B M
1 APREFLL GENEX /NG 4/10  1:16.65 9%% ( 0.60)
2 &HH 4 Yﬁﬂﬁé%g(%ggz.%% /N5 3/ 8 1:18.46 9% ( 0.57)
3 Tk Ek j@gﬁ}% C /N6 3/ 1 1:18.90 9k  ( 0.60)
4 K Ho ngéégiltﬁﬁ% /N6 3/ 2 1:19.40 9% ( 0.63)
5 AEGE A %3-%743%1% /N5 3/9 1:19.57 8fk ( 0.57)
6 tbxm LZ Yqﬂﬁﬁ%gzogéﬁ?% /N5 2/ 7 1:20.12 8tk ( 0.62)
TR B /\“X%F%*@ /N5 3/10  1:20.95 8k ( 0.64)
8 fmH iR mﬁ’%ﬁm /N5 2/ 8 1:21.13 8k ( 0.60)
9 /I vvggéliﬂi /N4 1/ 5 1:21.19 9% ( 0.59)
10 /NH - Eok t“—ggF%iE ! 1/ 6 1:22.53 9% ( 0.69)
11 kM W Wﬂségs'g /N6 2/ 6 1:23.31 Tk (0.62)
12 A A& A“xggFE%T%T /N5 2/ 4  1:24.11 7k (0.64)
13 ARHE  fER 1‘%?7?:124;21 /N4 1/ 4 1:24.76 9k ( 0.59)
13 gl R &ié%s?;gvk% /N5 2/ 5 1:24.76 % ( 0.58)
15— REiHE KSGE%?L%*E /N 1/ 7 1:24.99 8k ( 0.65)
16 St ERE ﬁtt’g()éSé /N5 2/ 3 1:25.59 6% ( 0.62)
17 fgE & t—i;%?:cﬁ /N4 1/ 3 1:30.16 7#% ( 0.58)

No. 93 ZF 100m &k &E FiE K& 4R 1:05.04

L 11-12% >

IEfr K 4 B FHE KK B M
1 HEREA s N il 6/ 8 1:09.25 10#% ( 0.55)
2 1718 #6798 &iéz%}zwv)% H1 7/10  1:10.72 9k ( 0.62)
3 W /g GENEX 1 6/ 1 1:10.93 9% ( 0.58)
4 WEA KR Yqﬂﬁéﬁgglgﬁﬁﬁﬂ Hi1 4/ 6  1:12.54 8tk ( 0.64)
b FEIL MER 13‘7!358'1(2: il 5/9 1:12.57 8k ( 0.59)
6 Rk Hidfr riﬂsél; il 4/ 7 1:14.16 8k ( 0.63)
7K R @Elz%%}ﬁkﬁﬂ NG 4/ 1 1:14.66 9% ( 0.59)
8 WM HIZA JH RS S Wil 5/10 1:14.83 8tk ( 0.62)
9 E AR Yﬂﬂﬁé%zZS;l%ﬁﬁEﬂ /N6 4/ 9 1:15.19 8fk ( 0.55)
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No. 93 ZF 100m Eik = T £ 1:05.04

L 11-12% >

IEfr K 4 R FHE KK B M
10 AR K PSS 1] 4/ 8 1:15.23 7k ( 0.61)
11 #fHE  Fik 71/3;84%/\1% /N6 4/°3  1:15.41 T#k  ( 0.52)
12 HF Hifs Ni%gjtéy\ il 4/ 5 1:15.98 Tk (0.67)
13 KH &+ ?;21? el NG 4/ 2 1:16.57 8k ( 0.60)
14 /AR kb ngéoji% /N6 3/ 4 1:16.92 8tk ( 0.62)
15 JIJFPU->HE J Sgg?%%ﬁ /N6 3/ 7 1:17.13 8tk ( 0.66)
16 HE WX 7&3§é7;3<157§ NG 3/ 5 1:17.73 8k ( 0.54)
17 B3 WEE jtéaé%%gg S NG 3/ 3 1:18.12 Tk (0.62)
18 HVL  HEW KSG%‘?%*E NG 3/ 6 1:18.15 7k (0.62)

i EE :vsivo?i% SC H11 4/ 4 K44 (——- )

No.93 &+ 100m &Fik= TiE =i 1:03.00

L 13-14F >

B K % T B FE O OKE B M
1 REF gai oty et 12 6/ 7 ._1(1) C:06. 36 10#%  ( 0.60)
2 FHHE & 4 j@%}‘zgé C 3 8/ 1 1:07.81 9k ( 0.61)
3 E KT ?ﬂlﬂﬁﬁ%%ogz.%% 13 8/ 4 1:08.47 9tk ( 0.67)
4 EEERT J sggs%ﬁ-% H12 6/ 3 1:08.68 9% ( 0.61)
5 Kl BE %Ugélg S 2 5/ 1 1:09.02 9k ( 0.63)
6 & HFE cig;;;ﬁ Hil 8/ 3 1:09.36 9k ( 0.64)
T ORH Mﬁ;ﬁﬁw 3 6/ 6 1:09.59 8k ( 0.55)
8 wpES M JSS{EE%%}PH& 113 6/ 4 1:09.72 8k ( 0.63)
9 =g A& K S G Ki& i3 8/ 8 1:10.07 8tk ( 0.64)
10 BERS By fﬁgjtg C 2 5/ 5 1:10.60 8tk ( 0.55)
11 HA EJAE =t %326;5% 12 7/ 4 1:10.75 8k ( 0.63)
12 B35 Ak A I\Bi;lgi? Hil 9/ 2 1:11.28 8tk ( 0.59)
13 RN A X 5%5‘5; L{EDN 3 7/ 5 1:11.64 7% ( 0.65)
14 1 nﬁé?&% 112 5/ 4 1:11.65 8k ( 0.60)
15 & L)Y % %2 %ﬁ;gbog 11 6/10 1:11.85 8k ( 0.54)
16 FJFZ 72 ?%%Z}Eﬁﬁﬂﬂ 2 5/3 1:11.96 8% ( 0.68)

H7JHEF . 5H19H 11:20



Z556[0] 7 H A fin 8 FHE K VKB EOR =
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L 13-4 >

IEfr K 4 R FHE KK B M
17 MO T +UTSS 2 5/2 1:12.15 8tk ( 0.55)
18 @i W 7934485@21: W3 6/ 2 1:12.34 Tk (0.61)
19 HPIRF 32471 xszfgq:m 3 779 1:12.38 Tk (0.57)
20 JEE IR t“fSFZ/J?\%E H12 6/ 9 1:13.71 6% ( 0.60)
21 HEE M 743%%3%2; T 112 5/8 1:14.21 7% ( 0.52)
22 W WY Kszjgz%%zo Hi2 5/ 7 1:14.22 7% ( 0.60)

No. 93 ZF 100m &EikE TiE =i 1:03.14

L 15-16:% >

B K % i FE O OKE B M
1 W E HEAE RIS C 2 9/ 6 1:05.61 9k  ( 0.54)
2 Bl i 71/317!1ilkﬁ &l 8/ 7 1:07.01 9% ( 0.60)
3 EEM % }ﬁﬁi%j%ﬁ&% il 7/ 1 1:08.75 8#k ( 0.59)
4 ZREEAAE AL ERYE il 8/10  1:09.29 8% ( 0.58)
53 BN NEA{M)5 f3 7/ 2 1:10.15 T ( 0.46)
6 FH ALK &iégisgvb;%\ il 7/ 7  1:10.47 7k (0.69)
6 4= &iégisig@%%ﬂ H3 7/ 8 1:10.47 7k ( 0.58)
8 i H K5 jtﬁ))gs'gé 52 6/ 5 1:11.24 7k ( 0.56)
9 HH EHL 7{%?2/\& =2 7/ 6 1:12.63 6% ( 0.65)

No. 93 &+ 100m &k = & KEE 1:02.17

L 1TglULE >

B K& % B FE O OKE B M
L/ Adapted &3 9/ 4 1:06.10 9% ( 0.56)
2 =MiE57% ?%%3;:52 K2 9/ 8 1:06.49 8tk ( 0.62)
3 EE HT Yﬂiﬂﬁﬁﬁgéé%ﬁiﬁi 3 8/ 6 1:06.81 9k ( 0.58)
4 KRBT kﬁ%fsgs —#% 9/ 9 1:07.23 Tk (0.57)
5ty LK E%ﬁ%ﬁ%k K4 9/ 5 1:07.80 7k (0.64)
6 FAJF DI JUPH FE7 R K1 8/ 5 1:08.63 8tk ( 0.65)
7 WIS 2 LR ®3 9/3 1:08.79 8 ( 0.80)
8 TH fEfd %/SE'\S;IIW =2 9/10  1:09.07 8k ( 0.63)
9 ot AE EEL%S%ZT%%&?% 3 8/ 9 1:09.32 7k ( 0.62)
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L 1T@lE >
B K £ B FE 7K B iclE
10 FHkF] & £ U N7 R x4 9/ 7 1:09.53 7#% ( 0.59)
33. 67
11 Hrl fEe JUMN FB A =3 8/ 2 1:09.88 %%  ( 0.59)
33.52
12 HH HEiE JUEE R N 9/ 1 1:14.25 4%%  ( 0.60)
36. 67
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